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QUADRILATERALS

1. In the quadrilateral PQRS. i) name the sides,
angles vertices and diagonals. ii) also name all

the pairs of adjacent sides, adjacent angles,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mMmSFu0DnDOS

opposite sides and opposite angles.

° Watch Video Solution

2. The three angles of a quadrilateral are 60°,

80° and 120°. Find the value of the fourth


https://dl.doubtnut.com/l/_mMmSFu0DnDOS
https://dl.doubtnut.com/l/_jwHkji2xQZUD

o Watch Video Solution

3. The angle of a quadrilateral are in the ratio
of 2:3:4:6. Find the measure of each of the four

angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_jwHkji2xQZUD
https://dl.doubtnut.com/l/_cIvhKF6DcvFZ

4. The four angles of a quadrilateral are equal.
Draw this quadrilateral and Find the value of

each of them.

° Watch Video Solution

5. In a quadrilateral the angles are x°,
(z +10)°, (z +20)°, (z + 30)°. Find the

angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_cIvhKF6DcvFZ
https://dl.doubtnut.com/l/_wty4nQa0jt9L
https://dl.doubtnut.com/l/_Fg4TvGVpAXkk

6. The ratio of angles in a quadrilateral cannot
be in the ratio 1:2:3:6. Why? Give reasons.
(hint: try to draw a rough diagram of this

quadrilateral)

o Watch Video Solution

7. If Three angles of a quadrilateral are 80°,
60° and 70°. Find the value of the fourth

angle.

I o Watch Video Solution


https://dl.doubtnut.com/l/_Fg4TvGVpAXkk
https://dl.doubtnut.com/l/_52LuPtP0tG3c
https://dl.doubtnut.com/l/_JvFXNW0RoL1Z

8. In a quadrilateral two angles are 80° and
100° and the remaining two angles are equal

then find the equal angle.

o Watch Video Solution

9. The angles of a quadrilateral are in ratio of

3:4:5:8. Find the angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_JvFXNW0RoL1Z
https://dl.doubtnut.com/l/_v3Auz2OybPTx
https://dl.doubtnut.com/l/_Aec6gFmh37w3
https://dl.doubtnut.com/l/_8IXxVl7MMQcs

10. in a quadrilateral ABCD find «x.

o Watch Video Solution



https://dl.doubtnut.com/l/_8IXxVl7MMQcs

1. The three angles of a quadrilateral are 55°,

65° and 105°. What is the fourth angle?

° Watch Video Solution

12. The angles of a quadrilateral are z°,
(r —10)°, (z +30)° and 2z°. Find the

angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_LVCvlgKQUXPT
https://dl.doubtnut.com/l/_ovlWsvwoF5xJ

13. The angles of a quadrilateral are in ratio of

2:3:4:6. Find the measure of smallest angle.

° Watch Video Solution



https://dl.doubtnut.com/l/_MCBSZgOLlD8x

14. find X in

the

figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_x8okCpVm7JYH

15. Prove that in a kite ABCD, A ABC and

A\ ADC are congruent.

o Watch Video Solution

16. In the below parallogram find /I and ZG
by any other method? (hint: angle-sum

property of a quadrilateral)

{i 3

ar
\ |
R [



https://dl.doubtnut.com/l/_HT0IKtw2hqDU
https://dl.doubtnut.com/l/_dtlUZnvjEKBS

I o Watch Video Solution

17. Identify two or more pairs of
supplementary angles from the parallelogram

ABCD given above.

o Watch Video Solution

18. Explain how a square is a- i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

° Watch Video Solution



https://dl.doubtnut.com/l/_dtlUZnvjEKBS
https://dl.doubtnut.com/l/_xXCGNzRw9E1r
https://dl.doubtnut.com/l/_vGZpUvHdp5vj

19. in a rhombus ABCD, /CBA = 40°. Find

the other angles.
I, A
. R
C
]

o Watch Video Solution



https://dl.doubtnut.com/l/_ydmnxfRvmSGj

20. The adjacent angles of a parallelogram are
z° and (2z + 30)°. Find all the angles of the

parallelogram.

o Watch Video Solution

21. explain how DEAR is a trapezium. Which of

its two sides are parallel?


https://dl.doubtnut.com/l/_r7zkGF5OMJSY
https://dl.doubtnut.com/l/_C6GgZdIk8DJ8

o Watch Video Solution

22. BASE is a rectangle. Its diagonals intersect

at O.

Then Find the wvalue of «z, if


https://dl.doubtnut.com/l/_C6GgZdIk8DJ8
https://dl.doubtnut.com/l/_ix5rUfEYtDd3

OB =5z +1 and OF = 2z + 4.

A ﬂ"

T
*-..;?_ﬂr

_"'a.n

° Watch Video Solution

23. In a quadrilateral ABCD a parallelogram, if

ZA = T0° and ZC = 65°? give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_ix5rUfEYtDd3
https://dl.doubtnut.com/l/_MM8JAHrxVFMI

24. Two adjacent sides of a parallelogram are
in the ratio of 5:3 and the perimeter of the
parallelogram is 48cm. Then Find the length of

each of its sides.

o Watch Video Solution

25. The diagonals of the quadrilateral are
perpendicular to each other. Is such a
quadrilateral always a rhombus? Draw a rough

figure to justify your answers.

| & I


https://dl.doubtnut.com/l/_ye9atyqaQ1Og
https://dl.doubtnut.com/l/_eqJEpaLoxsPy

| ¥ Watch Video Solution |

26. ABCD is a trapezium in which AB | | DC.
If /A = /B = 30°, what are the measures of

other angles?

o Watch Video Solution

27. Draw a rough figure of the following:

1) Trapezium 2) Parallelogram 3) Rhombus

o Watch Video Solution



https://dl.doubtnut.com/l/_eqJEpaLoxsPy
https://dl.doubtnut.com/l/_Gyovg2mLOScq
https://dl.doubtnut.com/l/_K8JhLrN2ide2

28. Write the properties of parallelogram.

o Watch Video Solution

29. Find the value of the perimeter of given

Rhombus BEST.


https://dl.doubtnut.com/l/_1araaXaWqkOm
https://dl.doubtnut.com/l/_ZB4aiCUdsEDA

o Watch Video Solution

30. Find the perimeter of the parallelogram

whose adjacent sides are 4cm and 6cm.

l o Watch Video Solution



https://dl.doubtnut.com/l/_ZB4aiCUdsEDA
https://dl.doubtnut.com/l/_S8pg5mX4N0eD

31. In the given parallelogram PQRS, find the

value of x+y+ 2

° Watch Video Solution



https://dl.doubtnut.com/l/_S8pg5mX4N0eD
https://dl.doubtnut.com/l/_18RVtMRivLEC

32. Let PQRS be a parallelogram, then find the

value of /P — /R.

° Watch Video Solution

33. Find the perimeter of the parallelogram

12em O

° Watch Video Solution



https://dl.doubtnut.com/l/_weGerZomhgzc
https://dl.doubtnut.com/l/_dsum8pJRk4o7

34. Let BEST be a parallelogram, then find the

values of X, y and z.
T S
_,ll:.: i b

° Watch Video Solution

35. in rhombus ABCD, /CBA = 40°. Find

other angles.


https://dl.doubtnut.com/l/_DGv9r1aJUDHo
https://dl.doubtnut.com/l/_WCIarZy3aWZ8

o Watch Video Solution

36. The adjacent angles of a parallelogram are
z° and (2z + 30)°. Find all the angles of the

parallelogram.

| = 1


https://dl.doubtnut.com/l/_WCIarZy3aWZ8
https://dl.doubtnut.com/l/_N9V6qhyPCr8c

I &9 Watch Video Solution I

37. The four angles of a quadrilateral are
equal. Draw this quadrilateral and Find the

value of each of them.

o Watch Video Solution

38. ABCD is a trapezium in which AB | | DC.

If /A = /B = 30°, what are the measures of

other angles?

l o Watch Video Solution


https://dl.doubtnut.com/l/_N9V6qhyPCr8c
https://dl.doubtnut.com/l/_4g2MCVTmva1K
https://dl.doubtnut.com/l/_KBsbGUyG3Yns

39. The angle of a quadrilateral are in the ratio
of 2:3:4:6. Find the measure of each of the four

angles.

° Watch Video Solution

40. in a rhombus ABCD, /CBA = 40°. Find

the other angles.


https://dl.doubtnut.com/l/_KBsbGUyG3Yns
https://dl.doubtnut.com/l/_FtcYqccg9v3z
https://dl.doubtnut.com/l/_olEmqMDVvHN0

C

o Watch Video Solution

41. The adjacent angles of a parallelogram are
z° and (2z + 30)°. Find all the angles of the

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_olEmqMDVvHN0
https://dl.doubtnut.com/l/_ZEyxn2jqj0hX

42. BASE is a rectangle. Its diagonals intersect
at O.
Then Find the value of =z, if

OB =5z +1 and OF = 2z + 4.

A ﬂﬂf"
"
: .L"‘.._I. -~
Tl ¥
2v S
B —g

o Watch Video Solution



https://dl.doubtnut.com/l/_u5F8IduTSKE8

43. The angles of a quadrilateral cannot be in

ratio of 1:2:3:6. Why? Give reasons.

° Watch Video Solution

44. Explain how a square is - i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

o Watch Video Solution



https://dl.doubtnut.com/l/_pHo6ksW8VEYA
https://dl.doubtnut.com/l/_FSThoHzENmh5

45. In a quadrilateral ABCD a parallelogram, if

/A =T70° and ZC = 65°? give reasons.

° Watch Video Solution

46. The diagonals of the quadrilateral are
perpendicular to each other. Is such a
quadrilateral always a rhombus? Draw a rough

figure to justify your answers.

o Watch Video Solution



https://dl.doubtnut.com/l/_u7IBcmSAqj41
https://dl.doubtnut.com/l/_sYlN3vExlLKd
https://dl.doubtnut.com/l/_Fz7CAXo1ELeu

47. in quadrilateral PQRS. i) name the sides,
angles, vertices and diagonals. ii) also name
the pairs of adjacent angles, opposite sides

and opposite angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_Fz7CAXo1ELeu

48. In a quadrilateral the line segment joining

the opposite vertices is called .........

o Watch Video Solution

49. Number of vertices of a quadrilateral is

o Watch Video Solution



https://dl.doubtnut.com/l/_hKO9zc1yXndh
https://dl.doubtnut.com/l/_eTz5GEU4kbZw

50. is an example of ... quadrilateral.

o Watch Video Solution

51. Some 4 angles in a quadrilateral is ...

right angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_l7Q6lrxLvOqm
https://dl.doubtnut.com/l/_Nedi7DNORagA

52. Sum of 3 angles in a quadrilateral is 300°

then the measure of the 4th angle is ...

° Watch Video Solution

53. Sum of four angles in a quadrilateral is

360° and they are equal then each angle is

° Watch Video Solution



https://dl.doubtnut.com/l/_Nedi7DNORagA
https://dl.doubtnut.com/l/_6lNV2Z1fSzfa
https://dl.doubtnut.com/l/_oBRujPNh03O7
https://dl.doubtnut.com/l/_neJ7PZL80d5D

54. The three angles of a quadrilateral are 50°,

60° and 100° then the fourth angle is ............

o Watch Video Solution

55. From the figure, the value of

LA+ LB+ 20+ 4D = ool

° Watch Video Solution



https://dl.doubtnut.com/l/_neJ7PZL80d5D
https://dl.doubtnut.com/l/_nmv0kmk36W5P

56. In the Quadrilateral PQRS, PQ and RS are

called ... sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_nmv0kmk36W5P
https://dl.doubtnut.com/l/_bFVBPLlvmj3y

57. In the Quadrilateral MNOP, the two

diagonals meet at ........

o Watch Video Solution

58. Sum of the angles in a quadrilateral is ..........

o Watch Video Solution



https://dl.doubtnut.com/l/_SzCN7znOtusi
https://dl.doubtnut.com/l/_Jj3PfberE2z8

59. The Number of diagonals of a Quadrilateral

o Watch Video Solution

60. Number of vertices of a quadrilateral is

° Watch Video Solution



https://dl.doubtnut.com/l/_Jj3PfberE2z8
https://dl.doubtnut.com/l/_TUN49n1PjRBS
https://dl.doubtnut.com/l/_ZzCftSC8kTeT

61. The Quadrilateral will have ... sides.

o Watch Video Solution

62. State whether true or false: All the

rectangles are squares (T/F)

o Watch Video Solution

63. State whether true or false:All the rhombus

are parallelogram (T/F)



https://dl.doubtnut.com/l/_lxuuDCORnZCX
https://dl.doubtnut.com/l/_WEFcP3NWNxmV
https://dl.doubtnut.com/l/_qzK6lXGTzlCs

o Watch Video Solution

64. State whether true or false:All squares are

rhombus and also rectangles (T/F)

o Watch Video Solution

65. State whether true or false:All

parallelograms are trapeziums(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_qzK6lXGTzlCs
https://dl.doubtnut.com/l/_fkCacceyqZQC
https://dl.doubtnut.com/l/_PEpvVdldrK58
https://dl.doubtnut.com/l/_LvdHzLxJlxhT

66. State whether true or false-

All rhombuses are kites

o Watch Video Solution

67. State whether true or false:All kites are

rhombus(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_LvdHzLxJlxhT
https://dl.doubtnut.com/l/_vZbH5No5eiTN

68. State whether true or false:All

parallelograms are trapeziums(T/F)

o Watch Video Solution

69. State whether true or false:All squares are

trapeziums(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_7QRcP9LwguTP
https://dl.doubtnut.com/l/_pp2hMgJwhfOn

70. A parallelogram in which two adjacent
sides are

equal is a ........

o Watch Video Solution

71. A parallelogram in which one angle is 90°

and two adjacent sides are equal is a ..............

o Watch Video Solution



https://dl.doubtnut.com/l/_N67UdgiBv35A
https://dl.doubtnut.com/l/_iuPt9S4falWA

72. In trapezium ABCD, AB| | DC. If
/D = z°,

then ZA = ...

o Watch Video Solution

73. Every diagonal in a parallelogram divides it

in to ....triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_SAqfvEzw3AKy
https://dl.doubtnut.com/l/_UafoWycNBYUv

74. In parallelogram ABCD, its diagonals AC

and BD intersect at O. if AO = 5¢m then

o Watch Video Solution

75.In a rhombus ABCD, its diagonal intersects

at ‘O’.then ZAOB = ... degrees.

° Watch Video Solution



https://dl.doubtnut.com/l/_FtQOmAqnXcnN
https://dl.doubtnut.com/l/_OWHJhn6q5Xgz

76. ABCD is a parallelogram then /A — /C=

............... degrees.

o Watch Video Solution

77. In a rectangle ABCD, the diagonal

AC = 10cm then diagonal BD = .. cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_89jBq9JZlESj
https://dl.doubtnut.com/l/_drgPIpDsxKNs

78. In a square ABCD, the diagonal AC is

drawn.Then ZBAC = ... degrees.

o Watch Video Solution

79.In a rectangle the diagonals are .........

o Watch Video Solution

80. Value of Each angle in A Rectangle is



https://dl.doubtnut.com/l/_30tDm8BcYzI0
https://dl.doubtnut.com/l/_Vtqp0BkWRhob
https://dl.doubtnut.com/l/_DDbxS4oASqZO

o Watch Video Solution

81. In parallelogram ABCD, Value of

o Watch Video Solution

82. The Side of square is 10cm then it's

perimeter is ... cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_DDbxS4oASqZO
https://dl.doubtnut.com/l/_g9MRPTG5BTz2
https://dl.doubtnut.com/l/_Yqc2JHeC5Jmf
https://dl.doubtnut.com/l/_CFKu0QYUCCAm

83.1f ] = 4em and b = 3em then the

area of rectangle = ............ cm”.

o Watch Video Solution

84. The Side of Rhombus is 3cm then it's

perimeter is ... cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_CFKu0QYUCCAm
https://dl.doubtnut.com/l/_RMgH5As8Yque

85. State whether true or false:Every rectangle

is square(T/F)

o Watch Video Solution

86. (Fill in the blanks)

parallelogram=...................

area

of

o Watch Video Solution



https://dl.doubtnut.com/l/_Vc8ThqvPhk2W
https://dl.doubtnut.com/l/_7Zc1tH4h0JDP

87. Fill in the blank:Number of pairs of
opposite sides are equal in trapezium is

o Watch Video Solution

88. Fill in the blank:If non parallel sides are
equal in a trapezium then it is called ...

trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_1TBBWTeIMCQh
https://dl.doubtnut.com/l/_y3M6XIxiBmh4
https://dl.doubtnut.com/l/_CiaT70eQKVBZ

89. In a rectangle the diagonals are .........

o Watch Video Solution

90. Fill in the blank:In square each angle is

o Watch Video Solution

91. ABCD is a parallelogram then /A — ZC=

............... degrees.



https://dl.doubtnut.com/l/_CiaT70eQKVBZ
https://dl.doubtnut.com/l/_WDN01n0BmePG
https://dl.doubtnut.com/l/_cnLxXIZSDdd3

| ¥ Watch Video Solution |

92. Fill in the blank:In a quadrilateral one pair

of opposite sides are parallel then it is............

o Watch Video Solution

93. Three angles of a quadrilateral are 60°,
80° and 100° ,then the measure of fourth

angle is.........

o Watch Video Solution



https://dl.doubtnut.com/l/_cnLxXIZSDdd3
https://dl.doubtnut.com/l/_vtjaKgS8L8R0
https://dl.doubtnut.com/l/_Ts1crLrfRMKB

94. In parallelogram ABCD, Value

of

o Watch Video Solution

95. In Rhombus, the diagonals are. .........

o Watch Video Solution

96. The perimeter of parallelogram, if the

adjacent sides are 3cm and 2cmis ............. :



https://dl.doubtnut.com/l/_frPlvm3hOPcn
https://dl.doubtnut.com/l/_rZlcCeUnwfgQ
https://dl.doubtnut.com/l/_L0eZTZiRKnp1

o Watch Video Solution

97.Two angles of a quadrilateral are 120° and
140° and the remaining two are the same

then the measure of equal angle is............

o Watch Video Solution

98. The length of one diagonal in a rhombus is

6cm then the length of other diagonal



https://dl.doubtnut.com/l/_L0eZTZiRKnp1
https://dl.doubtnut.com/l/_C2JpgcgThOOz
https://dl.doubtnut.com/l/_QMepzRGYjeRj

| ¥ Watch Video Solution |

99. The ratio of adjacent angles in a

parallelogram is 3:2 then least angle is............

o Watch Video Solution

100. The length of one diagonal in a rhombus

is 6cm then the length of other diagonal

o Watch Video Solution



https://dl.doubtnut.com/l/_QMepzRGYjeRj
https://dl.doubtnut.com/l/_2uF8RZxqEP8R
https://dl.doubtnut.com/l/_RpVowytktB0Q

101. The ratio of adjacent angles in a

parallelogram is 3:2 then least angle is.............

° Watch Video Solution

102. Sum of 3 angles in a quadrilateral is 270°

then the fourth angle is..........

o Watch Video Solution



https://dl.doubtnut.com/l/_85dm2DDl11pb
https://dl.doubtnut.com/l/_naCSR7e887tm

103. perimeter of adjacent figure is ...

o Watch Video Solution

104. the perimeter of adjacent rectangle is


https://dl.doubtnut.com/l/_HOXmgklZvPRw
https://dl.doubtnut.com/l/_LWSx4K1nEEAR

Jiomn

(18)

bomE

° Watch Video Solution

105. State whether true or false:In a square

diagonals are not equal(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_LWSx4K1nEEAR
https://dl.doubtnut.com/l/_cDTaYHnoCJhU

106. The measure of each angle in rhombus is

90° (T/F)

o Watch Video Solution

107. State whether true or false:There are two

diagonals in a parallelogram(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_pfDpDvkKWYhZ
https://dl.doubtnut.com/l/_KnHxEAtimslU

108. the figure represents.......

° Watch Video Solution



https://dl.doubtnut.com/l/_f11qheWDMqi8

109. Sum of the angles in a quadrilateral is

A. 200°

B.180°

C. 360°

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_w1Gm39cIAv4I
https://dl.doubtnut.com/l/_vEKaqZ9dUdbk

110. If two pairs of opposite sides are equal in

a quadrilateral then it is called ...

A. 1. Parallelogram

B. 2. Rectangle

C. 3.Square

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vEKaqZ9dUdbk

111. ABCD is a parallelogram then LA — /C=

............... degrees.

A.50°

B.60°

C.90°

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_4VEjsT0cs737
https://dl.doubtnut.com/l/_eMFLNKEvfIIB

2. In a rhombus diagonals intersect at

A. Right angles

B. Acute angles

C. Obtuse angles

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eMFLNKEvfIIB

113. No. of diagonals of a rectangle is .................

A 4

B.2

C.3

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_d5oFzSM4CN0L

1M4. ABCD is a quadrilateral, then

LA+ /B + /ZC+ 4D =

A.180°

B. 360°

C.200°

D. 280°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_G9HEnidVye8O
https://dl.doubtnut.com/l/_aDzhRwPJC2Va

115. Each angle in a squareiis .....

A.90°

B.190°

C.80°

D.100°

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_aDzhRwPJC2Va

116. The adjacent figure represents ...

A. Parallelogram

B. Square

C. Trapezium

D. None

Answer:


https://dl.doubtnut.com/l/_yBpQzOFa7yde

° Watch Video Solution

117. In the adjacent figure the perimeter of

rectangle IS e

A.2(a+Db)

B.a+b

C.a-b


https://dl.doubtnut.com/l/_yBpQzOFa7yde
https://dl.doubtnut.com/l/_On9CFKbG86CG

D. ab

Answer:

o Watch Video Solution

118. In a square the diagonals are ................

o Watch Video Solution

119. Number of vertices of a quadrilateral is


https://dl.doubtnut.com/l/_On9CFKbG86CG
https://dl.doubtnut.com/l/_CtxIbEuwIF8r
https://dl.doubtnut.com/l/_CP9X6ZYDFqHQ

Al

B.2

C.3

D. 4

Answer:

° Watch Video Solution

120. The adjacent angles of a parallelogram


https://dl.doubtnut.com/l/_CP9X6ZYDFqHQ
https://dl.doubtnut.com/l/_CgXVNhOfxd2z

A. 1. Supplementary

B. 2. Complementary

C.3.190°

D.4.0

Answer:

° Watch Video Solution

121. The perimeter of Rhombus whose side is a

IS :


https://dl.doubtnut.com/l/_CgXVNhOfxd2z
https://dl.doubtnut.com/l/_H13GKDRUUxLh

A. 3a

B. 4a

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_H13GKDRUUxLh

122. The adjacent figure represents ...

A. Rhombus

B. Isosceles trapezium

C. Square

D. None

Answer:


https://dl.doubtnut.com/l/_akVF3xzJcO4B

° Watch Video Solution

1. The three angles of a quadrilateral are 55°,

65° and 105°. What is the fourth angle?

o Watch Video Solution

2. In a quadrilateral two angles are 80° and

100° and the remaining two angles are equal


https://dl.doubtnut.com/l/_akVF3xzJcO4B
https://dl.doubtnut.com/l/_gMgu2n5YFgSl
https://dl.doubtnut.com/l/_fVZ2XOdbdxjN

then find the equal angle.

o Watch Video Solution

3. The angles of a quadrilateral are =z°,
(z —10)°, (z +30)° and 2z°. Find the

angles.

o Watch Video Solution

4. The four angles of a quadrilateral is in the

ratio of 3:4:5: 6. Find the measure of each


https://dl.doubtnut.com/l/_fVZ2XOdbdxjN
https://dl.doubtnut.com/l/_1mabpvRTUyJ3
https://dl.doubtnut.com/l/_T2PTzkMGdFxu

angle.

o Watch Video Solution

5. Find the perimeter of the parallelogram

12em O

o Watch Video Solution



https://dl.doubtnut.com/l/_T2PTzkMGdFxu
https://dl.doubtnut.com/l/_t9DrK4zI93zP

6. Let BEST be a parallelogram, then find the

values of X, y and z.
T —
_,ll:.: i b

° Watch Video Solution

7. In parallelogram RING if m ZR = 70°, find

all the other angles.



https://dl.doubtnut.com/l/_mfFvBNfJTQyL
https://dl.doubtnut.com/l/_62xYkA9dGy7W

o Watch Video Solution

8. HELP is a parallelogram. Given that OE = 4
cm, where O is the point of intersection of the
diagonals and HL is 5 cm more than PE? Find

OH.

o Watch Video Solution

9. RENT is a rectangle. Its diagonals intersect

at O. Find x, if OR =2x + 4 and OT =3x +1.


https://dl.doubtnut.com/l/_62xYkA9dGy7W
https://dl.doubtnut.com/l/_hTrpHl3sKf7l
https://dl.doubtnut.com/l/_mMtmA8Ojoqu1
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° Watch Video Solution

10. In trapezium ABCD, AB is parallel to

CD. f ZA=50°,/ZB="T0°. Find


https://dl.doubtnut.com/l/_mMtmA8Ojoqu1
https://dl.doubtnut.com/l/_YjG4gQPVyGdw

/C and /ZD.

o Watch Video Solution

11. The measures of two adjacent angles of a
parallelogram are in the ratio 3 : 2. Find the

angles of the parallelogram.

o Watch Video Solution

12. RICE is a rhombus. Find OE and OR. Justify

your findings.


https://dl.doubtnut.com/l/_YjG4gQPVyGdw
https://dl.doubtnut.com/l/_PNbkMPZZDlqw
https://dl.doubtnut.com/l/_ogp4l6ghSYeu

o Watch Video Solution



https://dl.doubtnut.com/l/_ogp4l6ghSYeu

13. The three angles of a quadrilateral are 55°,

65° and 105°. What is the fourth angle?

o Watch Video Solution

14. In a quadrilateral, two angles are 80° and
120°. The remaining two angles are equal.

What is the measure of each of these angles?

o Watch Video Solution



https://dl.doubtnut.com/l/_ogp4l6ghSYeu
https://dl.doubtnut.com/l/_3e9A6f3LQaEg
https://dl.doubtnut.com/l/_gmRNCeJF87z4
https://dl.doubtnut.com/l/_6bd1ZogGdlsZ

15. The angles of a quadrilateral are z°,
(z —10)°, (z +30)° and 2z°. Find the

angles.

o Watch Video Solution

16. The four angles of a quadrilateral is in the
ratio of 3:4:5: 6. Find the measure of each

angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_6bd1ZogGdlsZ
https://dl.doubtnut.com/l/_HXGADQHT67Wo

17. Find the perimeter of the parallelogram

PORS.

o Watch Video Solution

18. BEST is a parallelogram. Find the values x, y

and z.


https://dl.doubtnut.com/l/_ng52tyclq4Rw
https://dl.doubtnut.com/l/_oZheRj3VXvem

o Watch Video Solution

19. In parallelogram RING if m ZR = 70°, find

all the other angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_oZheRj3VXvem
https://dl.doubtnut.com/l/_BliZHPUvyVx4

20. HELP is a parallelogram. Given that OE = 4
cm, where O is the point of intersection of the

diagonals and HL is 5 cm more than PE? Find

OH.

o Watch Video Solution

21. RENT is a rectangle. Its diagonals intersect

at O. Find x, if OR = 2x + 4 and OT = 3x +1.


https://dl.doubtnut.com/l/_BliZHPUvyVx4
https://dl.doubtnut.com/l/_efm1qi5oRcD7
https://dl.doubtnut.com/l/_giQM952Yv7Ok
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° Watch Video Solution

22. In trapezium ABCD, AB is parallel to

CD. f ZA=50°,/ZB="T0°. Find


https://dl.doubtnut.com/l/_giQM952Yv7Ok
https://dl.doubtnut.com/l/_GfLrA6Wa6VVY

/C and ZD.

o Watch Video Solution

23. The measures of two adjacent angles of a
parallelogram are in the ratio 3 : 2. Find the

angles of the parallelogram.

o Watch Video Solution

24. RICE is a rhombus. Find OE and OR. Justify

your findings.


https://dl.doubtnut.com/l/_GfLrA6Wa6VVY
https://dl.doubtnut.com/l/_cx7arYOYoVtZ
https://dl.doubtnut.com/l/_LuwBJY9IvoZF

o Watch Video Solution



https://dl.doubtnut.com/l/_LuwBJY9IvoZF

1. in quadrilateral PQRS. i) name the sides,
angles, vertices and diagonals. ii) also name

the pairs of adjacent angles, opposite sides


https://dl.doubtnut.com/l/_LuwBJY9IvoZF
https://dl.doubtnut.com/l/_GKOyvqCPzTgY

and opposite angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_GKOyvqCPzTgY

2.In quadrilateral PQRS

Q

Also name all the pairs of adjacent sides,
adjacent angles, opposite sides and opposite

angles.

O Watch Video Solution



https://dl.doubtnut.com/l/_cCebmT3rqLxL
https://dl.doubtnut.com/l/_VbWEOBm6HV7Z

3. The three angles of a quadrilateral are 60°,
80° and 120°. Find the value of the fourth

angle?

I | y B

o Watch Video Solution

4. The angle of a quadrilateral are in the ratio

of 2:3:4:6. Find the measure of each of the four


https://dl.doubtnut.com/l/_VbWEOBm6HV7Z
https://dl.doubtnut.com/l/_5nhuWMFK1rWt

angles.

o Watch Video Solution

5. The four angles of a quadrilateral are equal.
Draw this quadrilateral and Find the value of

each of them.

o Watch Video Solution

6. In a quadrilateral the angles are z°,

(z +10)°, (x +20)°, (x +30)°. Find the


https://dl.doubtnut.com/l/_5nhuWMFK1rWt
https://dl.doubtnut.com/l/_UtwSP6uAkQKK
https://dl.doubtnut.com/l/_AqDBiBlob2zL

angles.

o Watch Video Solution

7.The ratio of angles in a quadrilateral cannot
be in the ratio 1:2:3:6. Why? Give reasons.
(hint: try to draw a rough diagram of this

quadrilateral)

° Watch Video Solution



https://dl.doubtnut.com/l/_AqDBiBlob2zL
https://dl.doubtnut.com/l/_IPxtejzs3axW
https://dl.doubtnut.com/l/_qT0W4hBRYM57

1. State whether true or false: All the

rectangles are squares (T/F)

° Watch Video Solution

2. State whether true or false:All the rhombus

are parallelogram (T/F)

° Watch Video Solution



https://dl.doubtnut.com/l/_qT0W4hBRYM57
https://dl.doubtnut.com/l/_qbFNgoSs1t0C

3. State whether true or false:All squares are

rhombus and also rectangles (T/F)

o Watch Video Solution

4. State whether true or false:All squares are

not parallelograms(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_lE40UtY3da8M
https://dl.doubtnut.com/l/_GwALl0QYcHL6

5. State whether true or false:All kites

rhombus(T/F)

are

o Watch Video Solution

6. State whether true or false-

All rhombuses are kites

o Watch Video Solution



https://dl.doubtnut.com/l/_HAFomH3yqE3v
https://dl.doubtnut.com/l/_YtYYGqlmLaf0

7. State whether true or false:All

parallelograms are trapeziums(T/F)

o Watch Video Solution

8. State whether true or false:All squares are

trapeziums(T/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_34jfnl0j8Row
https://dl.doubtnut.com/l/_IfwETfyyjBA1

9. Explain how a square is a -

quadrilateral

o Watch Video Solution

10. Explain how a square is a- i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

o Watch Video Solution



https://dl.doubtnut.com/l/_seSEIH4Xgm7V
https://dl.doubtnut.com/l/_16Jv06bB5zjo

11. Explain how a square is a- i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

° Watch Video Solution

12. Explain how a square is a- i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

o Watch Video Solution



https://dl.doubtnut.com/l/_ENwoA4TPPAYQ
https://dl.doubtnut.com/l/_WupGd3rODfrN

13.1n a rhombus ABCD, Z/CBA = 40°. Find
the other angles.

A

o Watch Video Solution

14. The adjacent angles of a parallelogram are

z° and (2z + 30)°. Find all the angles of the

parallelogram.



https://dl.doubtnut.com/l/_xEoDrw0fSjFQ
https://dl.doubtnut.com/l/_N54XCCvPaP6r

I o Watch Video Solution

15. explain how DEAR is a trapezium. Which of

its two sides are parallel?
[ —— R T T
Kl “ l

E A

o Watch Video Solution



https://dl.doubtnut.com/l/_N54XCCvPaP6r
https://dl.doubtnut.com/l/_DmDAvsL8D9xb

16. BASE is a rectangle. Its diagonals intersect

at O.

Then Find

the value

of

OB =5z +1 and OF = 2z + 4.
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if

o Watch Video Solution



https://dl.doubtnut.com/l/_jQgQDkC0SXDw

17. In a quadrilateral ABCD a parallelogram, if

/A =T70° and ZC = 65°? give reasons.

° Watch Video Solution

18. Two adjacent sides of a parallelogram are
in the ratio of 5:3 and the perimeter of the
parallelogram is 48cm. Then Find the length of

each of its sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_A3FlYhIuqYFM
https://dl.doubtnut.com/l/_HLdxhRaM3lIb
https://dl.doubtnut.com/l/_AL1h1Me3aOJU

19. The diagonals of the quadrilateral are
perpendicular to each other. Is such a
quadrilateral always a rhombus? Draw a rough

figure to justify your answers.

° Watch Video Solution

20. ABCD is a trapezium in which AB | | DC.

If /A = /B = 30°, what are the measures of

other angles?

° Watch Video Solution



https://dl.doubtnut.com/l/_AL1h1Me3aOJU
https://dl.doubtnut.com/l/_WdZSgWHk0E1Q

Exercise 2 Fill In The Blanks

1. A parallelogram in which two adjacent sides
are

equal is @ ...

° Watch Video Solution

2. A parallelogram in which one angle is 90°

and two adjacent sides are equal is a ..............

o Watch Video Solution



https://dl.doubtnut.com/l/_Bs0OTs2vmQLL
https://dl.doubtnut.com/l/_w0Jr4HLUQJpY

3. In trapezium ABCD, AB| | DC. If
/D = z°,

then ZA = ...

o Watch Video Solution

4. Every diagonal in a parallelogram divides it

in to ....triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ga2nTaj0v4wy
https://dl.doubtnut.com/l/_FTfW9Yfyj66n

5. In parallelogram ABCD, its diagonals AC

and BD intersect at O. if AO = 5¢m then

o Watch Video Solution

6. In a rhombus ABCD, its diagonal intersects

at ‘O’.then ZAOB = ... degrees.

° Watch Video Solution



https://dl.doubtnut.com/l/_KhyVnqKOi1Sp
https://dl.doubtnut.com/l/_zXeOAmyfhJXt

7. ABCD is a parallelogram then /A — /C=

............... degrees.

o Watch Video Solution

8 In a rectangle ABCD, the diagonal

AC = 10cm then diagonal BD = .. cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_mhEoneSoIJaC
https://dl.doubtnut.com/l/_xvqgg9iKSwyY

9.1n a square ABCD, the diagonal AC is drawn.

Then /BAC = ... degrees.

o Watch Video Solution

1. Find the ratio of: Rs 10 to 10000 paise

o Watch Video Solution



https://dl.doubtnut.com/l/_NrS8C9R6zRH3
https://dl.doubtnut.com/l/_Iz70IehDvcIn

2. Convert the given fractional numbers to per

cents.3/4 and 1/8.

° Watch Video Solution

3. Identify two or more pairs of supplementary
angles from the parallelogram ABCD given

above.

° Watch Video Solution



https://dl.doubtnut.com/l/_Vie82uExe98O
https://dl.doubtnut.com/l/_604KXvtzAqwe

4. Write area of rectangle if the length is 7cm

and breadth is 5 cm.

o Watch Video Solution

5.Subtract 3xy + 5yz - 7zx from 5xy - 2yz - 2zx

+ 10xyz

o Watch Video Solution



https://dl.doubtnut.com/l/_kDsRqbeNRNIC
https://dl.doubtnut.com/l/_ZePF3Bjv93eh

6. Identify two or more pairs of supplementary
angles from the parallelogram ABCD given

above.

o Watch Video Solution

1. How many different quadrilaterals can be

obtained from the adjacent figure? Name


https://dl.doubtnut.com/l/_m6do38oh12Ap
https://dl.doubtnut.com/l/_ii2VZ17smwcV

them.

A

° Watch Video Solution

npo 20X
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https://dl.doubtnut.com/l/_ii2VZ17smwcV
https://dl.doubtnut.com/l/_14DCCLx2dNwN

\ o Watch Video Solution

3. What would happen if the quadrilateral is
not convex? Consider quadrilateral ABCD. Split
it into two triangles and find the sum of the

interior angles. What is the sum of interior


https://dl.doubtnut.com/l/_14DCCLx2dNwN
https://dl.doubtnut.com/l/_mzpzwEJ8jyCt

angles of a concave quadrilateral?

o Watch Video Solution

4, Prove that in a kite ABCD

AABC and AADC are congruent.


https://dl.doubtnut.com/l/_mzpzwEJ8jyCt
https://dl.doubtnut.com/l/_A8TSW8NgR1Ev

o Watch Video Solution



https://dl.doubtnut.com/l/_A8TSW8NgR1Ev

5. Take two identical set squares with angles
30°-60°—-90°and place them adjacently as
shown in the adjacent figure. Does this help
you to verify the above property? Can we say

every rectangle is a parallelogram?

“'."F.."
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o Watch Video Solution



https://dl.doubtnut.com/l/_ps2Mh3x3NoNm
https://dl.doubtnut.com/l/_crzhMFy1cvLO

6. Take two identical 30°-60°-90° set
squares and form a parallelogram as before.
Does the figure obtained help you confirm the

above property?

o Watch Video Solution

7.1n the below parallogram find ZI and ZG by

any other method? (hint: angle-sum property


https://dl.doubtnut.com/l/_crzhMFy1cvLO
https://dl.doubtnut.com/l/_LMWinFIYixdJ

of a quadrilateral)

i N

Hr
] 1 . |

o Watch Video Solution

8. How many different quadrilaterals can be

obtained from the adjacent figure? Name


https://dl.doubtnut.com/l/_LMWinFIYixdJ
https://dl.doubtnut.com/l/_1hNGpVdVZcV4

them.

A

o Watch Video Solution

() Is quadrilateral EFGH a convex


https://dl.doubtnut.com/l/_1hNGpVdVZcV4
https://dl.doubtnut.com/l/_dIXX2Xs1zLMo

quadrilateral?

() Is quadrilateral TUVW a concave
quadrilateral?

(iii) Draw both the diagonals for quadrilateral
EFGH. Do they intersect each other?

(iv) Draw both the diagonals for quadrilateral

TUVW. Do they intersect each other?

o Watch Video Solution

10. What would happen if the quadrilateral is

not convex? Consider quadrilateral ABCD. Split


https://dl.doubtnut.com/l/_dIXX2Xs1zLMo
https://dl.doubtnut.com/l/_iZYqwm77YOuB

it into two triangles and find the sum of the
interior angles. What is the sum of interior

angles of a concave quadrilateral?

o Watch Video Solution



https://dl.doubtnut.com/l/_iZYqwm77YOuB

11. Prove that in a kite ABCD, AABC and

AADC are congruent.

A

L

C

° Watch Video Solution



https://dl.doubtnut.com/l/_Li0Bl5bAn8ss
https://dl.doubtnut.com/l/_GYWSVbsExJCz

12. Take two identical set squares with angles
30°-60°-90°and place them adjacently as
shown in the adjacent figure. Does this help
you to verify the above property? Can we say

every rectangle is a parallelogram?

“'."F.."
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o Watch Video Solution



https://dl.doubtnut.com/l/_GYWSVbsExJCz
https://dl.doubtnut.com/l/_k4gKCujnLYqI

13. Take two identical 30°-60°—-90° set
squares and form a parallelogram as before.
Does the figure obtained help you confirm the

above property?

° Watch Video Solution

14. Identify two or more pairs of
supplementary angles from the parallelogram

ABCD given above.

° Watch Video Solution



https://dl.doubtnut.com/l/_k4gKCujnLYqI
https://dl.doubtnut.com/l/_4MLpLEESUK9d

15. In the below parallogram find ZI and ZG
by any other method? (hint: angle-sum

property of a quadrilateral)

i N

° Watch Video Solution



https://dl.doubtnut.com/l/_FHrpZi5IdVPC

1. In the quadrilateral PQRS. i) name the sides,
angles vertices and diagonals. ii) also name all
the pairs of adjacent sides, adjacent angles,

opposite sides and opposite angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_3xqcGc9P8DCh

2. The three angles of a quadrilateral are 60°,
80° and 120°. Find the value of the fourth

angle?

° Watch Video Solution



https://dl.doubtnut.com/l/_3xqcGc9P8DCh
https://dl.doubtnut.com/l/_vbJOfZghrUWu

3. The angle of a quadrilateral are in the ratio
of 2:3:4:6. Find the measure of each of the four

angles.

o Watch Video Solution

4. The four angles of a quadrilateral are equal.
Draw this quadrilateral and Find the value of

each of them.

o Watch Video Solution



https://dl.doubtnut.com/l/_pmzMySwYsQuM
https://dl.doubtnut.com/l/_9uSMYQBnipiQ
https://dl.doubtnut.com/l/_60CKaPQflMjs

5. In a quadrilateral the angles are z°,
(z +10)°, (z +20)°, (z + 30)°. Find the

angles.

o Watch Video Solution

6. The ratio of angles in a quadrilateral cannot
be in the ratio 1:2:3:6. Why? Give reasons.
(hint: try to draw a rough diagram of this

quadrilateral)

° Watch Video Solution



https://dl.doubtnut.com/l/_60CKaPQflMjs
https://dl.doubtnut.com/l/_QuKKrRZjwZqm

Exercise 2 State Whether True Or False

1. State whether true or false: All the

rectangles are squares (T/F)

o Watch Video Solution

2. State whether true or false:All the rhombus

are parallelogram (T/F)

° Watch Video Solution



https://dl.doubtnut.com/l/_OTHw4crqyCN0
https://dl.doubtnut.com/l/_JFqP7MQJxDWR
https://dl.doubtnut.com/l/_FJSp3WZVbGXu

3. All squares are.......

° Watch Video Solution

4, State whether true or false:All squares are

not parallelograms(T/F)

o Watch Video Solution

5. State whether true or false:All kites are

rhombus(T/F)

I ° Watch Video Solution


https://dl.doubtnut.com/l/_FJSp3WZVbGXu
https://dl.doubtnut.com/l/_Pc3v4JHPGMFd
https://dl.doubtnut.com/l/_QDJEI42Fd8OD

6. State whether true or false-

All rhombuses are kites

o Watch Video Solution

7. State whether true or

parallelograms are trapeziums(T/F)

false:All

° Watch Video Solution



https://dl.doubtnut.com/l/_QDJEI42Fd8OD
https://dl.doubtnut.com/l/_m2DSFW8nam4D
https://dl.doubtnut.com/l/_9kockAllrtXr

8. State whether true or false:All squares are

trapeziums(T/F)

o Watch Video Solution

9. Explain how a square is a- i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3OvZmicyxEL
https://dl.doubtnut.com/l/_laM8GVTJT1d5

10. Explain how a square is a- i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

° Watch Video Solution

11. Explain how a square is - i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

o Watch Video Solution



https://dl.doubtnut.com/l/_AvNfISqHyL7o
https://dl.doubtnut.com/l/_j4RIwbwesLo6

12. Explain how a square is - i) quadrilateral ii)

parallelogram iii) rhombus iv) rectangle

o Watch Video Solution

13. In a rhombus ABCD, /CBA = 40°. Find

the other angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_qcqUVbp1F8yJ
https://dl.doubtnut.com/l/_7uIZnagIEFyK

14. The adjacent angles of a parallelogram are
z° and (2z + 30)°. Find all the angles of the

parallelogram.

o Watch Video Solution

15. explain how DEAR is a trapezium. Which of

its two sides are parallel?


https://dl.doubtnut.com/l/_7uIZnagIEFyK
https://dl.doubtnut.com/l/_t7MHORA9ohC1
https://dl.doubtnut.com/l/_V4xp1isAUbqK

° Watch Video Solution

16. RENT is a rectangle. Its diagonals intersect

at O. Find x, if OR = 2x + 4 and OT = 3x +1.


https://dl.doubtnut.com/l/_V4xp1isAUbqK
https://dl.doubtnut.com/l/_2jT1eKwLthLa
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° Watch Video Solution

17. In a quadrilateral ABCD a parallelogram, if

/A =T70° and ZC = 65°? give reasons.

| & ]


https://dl.doubtnut.com/l/_2jT1eKwLthLa
https://dl.doubtnut.com/l/_PTdKdrwzjkPv

| ' Watch Video Solution |

18. Two adjacent sides of a parallelogram are
in the ratio of 5:3 and the perimeter of the
parallelogram is 48cm. Then Find the length of

each of its sides.

° Watch Video Solution

19. The diagonals of the quadrilateral are

perpendicular to each other. Is such a


https://dl.doubtnut.com/l/_PTdKdrwzjkPv
https://dl.doubtnut.com/l/_Mr5FCn5f8uqA
https://dl.doubtnut.com/l/_URtPL6yvZSDb

quadrilateral always a rhombus? Draw a rough

figure to justify your answers.

° Watch Video Solution

20. ABCD is a trapezium in which AB | | DC.

If /A = /B = 30°, what are the measures of

other angles?

° Watch Video Solution

Exercise 2 Fill In The Blanks


https://dl.doubtnut.com/l/_URtPL6yvZSDb
https://dl.doubtnut.com/l/_L6ktpbsaNype
https://dl.doubtnut.com/l/_pQjxawtEwv69

1. A parallelogram in which two adjacent sides
are

equal is @ ...,

o Watch Video Solution

2. A parallelogram in which one angle is 90°

and two adjacent sides are equal is a ...............

o Watch Video Solution



https://dl.doubtnut.com/l/_pQjxawtEwv69
https://dl.doubtnut.com/l/_kQ1frv2y5Cc5

3. In trapezium ABCD, AB| | DC. If
/D = z°,

then ZA = ...

o Watch Video Solution

4. Every diagonal in a parallelogram divides it

in to ....triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_PXXSzmV0xRyQ
https://dl.doubtnut.com/l/_7gwLgmEPZnYG

5. In parallelogram ABCD, its diagonals AC

and BD intersect at O. if AO = 5¢m then

o Watch Video Solution

6. In a rhombus ABCD, its diagonal intersects

at ‘O’.then ZAOB = ... degrees.

° Watch Video Solution



https://dl.doubtnut.com/l/_6ruBZYTz9014
https://dl.doubtnut.com/l/_ySwBJEYHnR9h

7. ABCD is a parallelogram then /A — /C=

............... degrees.

o Watch Video Solution

8 In a rectangle ABCD, the diagonal

AC = 10cm then diagonal BD = .. cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_HDGvUc2zrTY1
https://dl.doubtnut.com/l/_iwbEJ1CUkUS5

9.1n a square ABCD, the diagonal AC is drawn.

Then /BAC = ... degrees.

o Watch Video Solution



https://dl.doubtnut.com/l/_ysoqJYzkIX4R

